E/C2r7;0.07.17 % " HIC @?/ Jé\J /Jtﬂ







00'TH

l-— 0089 —1

00'vT

00°0b

00'vT

00'vT

00°0b

- 68,00 —|

80,00

00'vT

00'09

000

00°0Z "ulw

[cm]




AE I M
B F IN \
CG KO . i
| pH L p ‘ ‘
114 114 011226 011229 011119 011143 011109 036100 011111

X2 X2 x4 x4 x1 x1 x1

N

991111 991110 991112 011133 011251 011114 014100 013101 011154
x1 x1 x1 x4 X2 X6 X2 X2 x1

K - N
o

011122 991124 991123 011127 011126 011142 014400 014117 996115
x1 x4 X2 X2 X2 X2 x1 X2 x1

N N ) )

o) N Yy 5 O &
991127 011101 011150 996132 994108 122 i130 i29(A)

X3 x2 X8 X2 X2 x12 x32 x20

I i ﬁ i

<

5 o O SIS

P & G| & =S
S & S g D

M8x40  M8x35 M8x35 M8x25 M8x60 M8x30 M10x40 M10x35 M10x25
x40 X4 x36 x8 x4 X4 X2 x32 X72




I %g@

M10x50 M10x40 M8x80 M10x45 M10x45 M10x35 M8x50
x4 x8 x4 x12 x8 x28 x18




i130 M10x25 M8x40 M8x35
X32 x32 X28 x4




i29(A) M10x40 M8x30
x4 X2 x4




i128
x32

M10x25 M8x35

X32

x32




M10x25 M8x35 i128
x4 x4 x4

[~ O\
{ 7
. \ 7
L — .




i29(A) M10x35
x16 X32




M10x35
x16







:

M8x80 M8x40
x4 x4

oplay. o

VATRACH




M10x45 M8x40
x8 x8

. \\\ ) )
M10x50 T . y i
x4 . 1|
e | D \ . )
b y / ' 7N ' = \\
L Z A\
B ‘,‘ / \
WAl ¢
) |

o Play_ o
V3RS




1122 M10x45
x12 x12

oplay. o

VATRACH




M10x40
X8

)Y \
\ N




M10x25
x4

. < ~
/ . [
i \\\E?\ { \\ | ) f \,I ™
s 1 ’ ‘. N \ ‘ )
\ N A
VI i \Y) N N
1 N l ~ T R
/“,“‘ | \ ‘I . . d
\ =\ e
. \ :;\ g 5
) . - R N\ N
e N‘ 1\ 4y \\\\
L L /
\ Sl

N\









